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DEFENCE STUDIES
[ General ]
PAPER ~ 1

Full Marks : 90
Time : 3 hours

The figures in the right hand margin indicate marks

Candidates are required to give their answers in their
own words as far as practicable

Hiustrate the answers wherever necessary

1. Answer ali of the following questions: 1 x 10
{a) Write the fuil form of LIC ?
{i} Low Intencity conflict
(i) Life Insurax.lce conflict
(#ify Light Intencity conflict

(iv) Low Intensity cover
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() When did Kargil War took place ?
(H 2000
(iiy 1999
(ii)) 1997
(iv) 1998

(c) Give the full form of WMD ?
(i) Weapons of Mass Division
(if) Weight of Massive Division
(iii) Weapons of Mass Destruction
(iv) Weight of Mass Destruction.

(d) Which Peace Treaty brought world War 1 to
an end between Germany and the Allied
Powers ?

(/) Treaty of Paris

(i) Treaty of Versailles
(iif) Treaty of Petropole
(iv) Treaty of Washington.
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(e} Which one of the following instruments is/
are used by states to promote their national
intercst 7

(i) Diplomacy
(ii) Propaganda
(iii) Economic Aid |
(iv} All of the above.

(/) Who is credited with having extended the
concept of power in international relations/
Politics ?

(i) KariMarx
(ii) Max Weber
(iii) Morgen thau
(iv) EHCCarr.

(g) Which one of the foliowing elements of
national power is most stable ?

(i) Population

(if) Nétural Resources
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(iii) Geography
(iv) None of the above.

(h) Aiomic Energy Comruissionwas setupin:
{i) 1948
(i) 1951
(ii5) 1955
{iv} 1959
(i) Thebook named "The Prince” was written by :
() A.Tdahan
(ii) Liddel Hart
(iiiy Machiavelli
{iv) Von Clausewirtz.
() Full form of GPS is :
(i) Global Positioning System
(if} Gross Population Survey
(iiiy Gold Pound Stock

(iv) Goal Positioning System.
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2. Answerany ten questions (Short Aaswer type) :
2x 10
(@) What do you mean by Border?
{b) What is Missile ?
(c) What do you understand by Hot War ?
{d) Write the fuil form of ISRO and RADAR.
(e) Who wrote 'Arthashastra' and 'On War' ?
(f) Who was Carl Von Clausewitz ?

(2) What do you understand by Strategy ?

(h) Mention two disadvantages of Jungle
War.

(i) When and where was the first Atom Bomb
exploded ?

(/) Name any two radioactive elements.

{k) Whatis Radcliffe line ?
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(/) Who was Mao-Tse-Tung ?

(m) What is unconventional war ?

(n) What is guerilla warfare ?

(o) Differentiate between a 'Rifle' and 2 'Gun'.

Answer any four questions from the following
{short essay type) : S5x4

(a) Write a note on Total War,

(6) Explain the role of Tank in Modemn
Warfare,

(c) Explain, briefly, the scope and objective of
National Security.

(d) Write a short note on "Tactics".
(e) Explain steps to counter—Insurgency.

() What is limited war ? What are the causes
of Limited War ?

(g) Write a note on Giobalisation.
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4. Answer any four questions from the following

(Essay type) : | 10x4
(a) What is War ? Discuss any two principles
of War ?

(b) What type of war is possible in the land
frontiers of India ? Mention the characteristics
of each type of war ?

{(¢) What do you understand by logistics ?

Discuss the logistical problems in Defence
ofIndia ?

(d) Discuss the importance of chemical warfare
as a part of modern war.

(e) What is an Explosive ? Discuss the uses of
explosive in modern warfare ?

(f) Explain the concept of 'Cold War'. Give a
brief account of Cold War indicating the
psychological, economic and political
aspects of it.

(g) Distinguish between conventional and
unconventional war. Give examples.
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(%) LIC 3aifon st o4 ¢
() Low Intensity conflict
(i) Life Insurance conflict
(#iiy Light Intensity conflict
(iv} Low Intensity cover
(3) I TF TS AT ARG T 7
{f) 2000
(ii) 1999
(iii) 1997
(iv) 1998
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(%) WMD- &7 %t 5 7
(i) Weapons of Mass Division
(if) Weight of Massive Division
(#ii) Weapons of Mass Destruction
(iv) Weight of Mass Destruction.

(7) ol o Rrepefern W (o pieT o a9
foyras ¥ whfem |

() R
(i) SRR ERE
(iii) TG 5fS
(iv) eufoa gy
(5) wi® e waiew five fes e Rewld
] T FA ?
() fecurmi® / FoRR
(ii) CoTiIeITST / WO
(iii) AT SISt
(iv) @33 RFH |
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(i) ™ stEm
(ifi) FaM-Y
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(iii) TSN g
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(%) “Atomic Energy Commission™  afyw
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() a8y
(i) sses
(ii) svee
(iv) saa> fiBu=
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(3) "The Prince” —32ox (o1 fwom
(i) A.T.Mahan
(if) Liddel Hart
. (iif) Machiavelii
(iv) Von Clausewirtz.
(@)GPS &7 ot T 3
(i)- Global Positioning System
(if) Gross Population Survey
(iti) Gold Pound Stock
(iv) Goal Positioning System.

A @IFH mel(wﬁsmW):
(¥) T’ T=s & QAR 7 2xde
(%) ‘TR INF A ?
(o) ‘o8 T%’ TS & @@ 0

(7) TR (ISRO ) @ 7w (RADAR) &7 *fefenet
@& | N |
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() Wi @3t W Ew el 3w e 2

(5) Car! Von Clausewitz T8 figem 9

(®) 7P (Strategy) TS & @t 7
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(@) wfsamiie & wice oA ?
(5) vt gm § 7
(7) METFRLT LA W o H 7
QTR 5T Ara $aa we (nfey oe ) ¢

¢x8
() ‘FfdE 35 s B oy

(%) S R DI o G Sssa IR |
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(3) Rewms se T 7 wigfas 1os Rermes
SRAPT HEAHAT 79 |

(5) o1 ATZ-9F 4R M IN 1 W TR
e, wﬁ‘@emﬁﬁ@ﬁﬁm‘sﬁ'
AefRpe SITAGAT ¥ |

(%) ‘oS §&° euﬁmﬁsmmﬂmmw
Swrzac WS |

UG/V/DFS/Gen /17 MV = 150



